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Gesamt Volbeschaftigte Teilbeschattigte
01.07.2008 01.07.2008 01.07.2008
Kopfe Ménner M‘;z":e, Frauen S{‘ﬁ:ﬂ Kopfe Manner Frauen S::':" Kopfe Manner 3‘;?;, Frauen S{‘ﬁ:ﬂ
BMI BPD-SDWien | A v .00 1] 1000% 1 1000%
Vi 00 500 1] 500% 1 50,0 %
Vi 00 774 7| 226% 4 148% 4.00) 250% 3 750 %
i 00 1000 _|
rgebnis .00 8,7 E 6 102% 4,o_o| 250% 3 750 %
AL 00 73,7 . 5 263%
00 8,7 ) 3 143%
.00 87, ! 1,00 i 1000%
.00 62, 1 3 375%
.00 100,
.00 100,
.00 1] 1000% i 1000%
.00 100,
L .00 100,
rgebnis 78,00 83, 13 167% 12 156% 1,00 1 1000%)
A2 .00 100,
33,00 15, 5,00 5 1000%)
47,00 57, 3,00 3 1000%)
30,00 50,
13,00 61,
.00 60,
.00
L .00
rgebnis 134,00 46, 62 49, ,00) 8| 00,
A3 85,00 . X 15,00 15 00,
40,00 27, 1 29, 00, 3 00,
69,00 20, 1 20, 00, 2 00,
34,00 X . 00 1 00,
17,00 11, 11,
4,00 50, 50,
200
GL 1,00
rgebnis 252,00 7 3 X 21,00, 21 1000%
AL 15,00 7 1 . _|
67,00 X 1 . 8.00) 8 1000%
L 13,00 . } . 2,00 2] 1000%)
rgebnis 95,00 X 3 X 54 X 10,00 10[ 100.0%)
AT L 4,00 X X X
rgebnis 4,00 75, 75, X
ADVIT cht 500 100,0 % 5 1000%
Ergebnis 5.00 1000% 5 1000%
; Nicht
Aligemein e net 14,00 429% 8| s71% 6 29% 8 57,1%
Ergebnis 14,00 429% 57,1 6 429% 57,
B v .00 1000 100,
v .00 333% 66,7 1 500 % 50, 1,00 1 1000%)
Vi 00 286% 71, 2 286% 71, _|
" 00 100, 100,
rgebnis 13,00 B1% 10|76 3 250% 75, 1,00 1 1000%)
G I 00 100, 100, 1,00 1 1000%)
.00 X X 60, 40,
rgebnis .00 X z 50, 50, 1.00] 1 1000%)
D .00 . . } :
rgebnis .00 E E X :
E .00 . 9 . 9
rgebnis .00 z 9 9
EL 00 100,
.00 100,
.00 100,
.00 100,
.00 100,
.00 100,
rgebnis 11,00 100, 1
E2a .00 100,
.00 95, i 50% 19 1 50%
.00 9.1 2 34% 57 2 34%
00 100, 3
.00 97, 1 29% 3 1 29%
00 100, 2
.00 100,
rgebnis 182,00 97, 4 22% 17 7 22%
E2b L 255,00 92, 19 75% 234 16 6.4%) 5,00 400 % 3 600 %
rgebnis 255,00 9. 1j 7.5% 234 16 6.4% 5@' 400% 3 600 %
rgebnis .00 100, 100,
P2 .00 100, 100,
rgebnis .00 100, 100,
WL 1 00 100, 100,
rgebnis .00 100, 100,
w2 LG .00 100, 100,
/ia 00 100, 100,
13 00 100, 100,
rgebnis .00 100, 100,
c icht 1,00 1| 1000% 1| 1000%
Ergebnis 1,00 1] 1000% 1 1000%
d Nic 10,00 2| 200% 8 80,0% 2 222% 7 77.8% 1,00 1| 1000%)
ugeordnet
Ergebnis 200% 8] 80,0% 2 222% 7 778% 1.00] 1 1000%)
e Nicht 75,0 % 1| 250% 3 750% 1 250%
rgebnis 754 1 250% 754 1 250%
hi 100, 100,
100, 100,
rgebnis 100, 100,
n2 100, 26] 100,
50, 50, 5 50, 50,
rgebnis 86, 13, 31 86, 13,
h3 100, 100,
rgebnis 100, 100,
h4 . X X . 1,00 1 1000 %
rgebnis ! ! ; ; 1@' 1 1000%)
h5 , 62| 87, ! 62 :
rgebnis ; QI ; ; 62 z
pL .I:.:,Tm et 1000% 2| 1000%
Ergebnis 100.0 % 2] 1000%
p2 Nicht 100,0 % 6| 1000% 2,00 1000 %
Ergebnis 1000% 6 1000% 2,00| 1000 %
a4 N et 1000% 1| 1000%
Ergebnis 1000 % 1 1000%
p5 chE 11,8 % 15| 882% 2 11,8 % 15 882%
rgebnis 118% 15| 88, 2 118% 15 88,
vi 66,7 % 33, 12 66,7 % 33,
100, 100,
100, 100,
rgebnis X 40, I X X
V1 (Ausb.) X 57, X .
rgebnis X 57, I E
v2 X 75, } . 1 1000%)
X 69, . . 1 1000%)
. 10[ 58, .
rgebnis 35, 22| 64, 1 I 2] 1000%
V2 (Ausb.) 50, X X
rgebnis 50, X X
V3 5 ! 6] 100.0%)
100,
5.9%) 16 oa, 1 5.9%)
2[ 100,
rgebnis 63%) 74|93, 5 6.8% 6] 100.0%)
V3 (Ausb)
rgebnis
va
18( 111% i‘ 123%
264,00 106% 27 1L9% 26%,
Nicht
e net 308% 8 308%
Ergebnis 472,00 56| 119% 55 133% 18%)
4 (Ausb.) 1 21,00 3 143% 3 150%
Ergebnis 21,00 3 143% 3| 15,0 %
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V5 1 33, 25,00 9| 36, 16| 64,0 % 2 100,0 %
Ergebnis 33, 25,00 9 36, 16] 64,0 % 2] 1000%
Ergebnis 45, 1.851,00! 47, 969 52,4 % 6 49%) 117 95,1 %
BPDWIENLPK | E2a 100, .00 100,
100, .00 100,
rgebnis 100, .00 100,
E2b L 80, 1 200% .00 80, 1 200%
rgebnis 80, 1] 200% .00 80, 1 20,0 %
Ergebnis 88 1 111% .00 88 1 111%
LPK Wien E1 100, 17,00 T 100,
96 1 32% 31,00 30 96 1 32%
96, 1 40% 25,00 24 96, 1 40%
100, 18,00 18] 100,
100, 12,00 1 100,
100, .00 100,
100, .00 100,
0 100, .00 100,
rgebnis 98, 2[4 114,00 112 K 2 K
E2a 86, 47|13, 332,00 290 22 12, 00| 3 375 %) 62,
91, 4] 8, 488,00 451 ¥ 37) z .00] 2| 222%) 71
99, 3o 332,00 330 2 X 00| 1000 %|
99,1 1] X 188,00 ,00) 1] 50,0 %! 50,0 %|
98, 4 274,00 270 4| K
99, 1] X 111,00 110] 1] X
L 75, 125, 4,00 3 1 25,
rgebnis 94, 101] 5, 1.729,00 1642, 87 X 20,00 6 30,0 %! 14 70,0 %!
E2b L 81, 653| 18, 3.404,00 2,861, 543 X 163,00 53 325 %) 110] 675 %)
rgebnis 81, 653| 18, 3.404,00 2.861 543 X 163,00 il 325 %) 110 675 %)
E2c L 71, 108] 28, 79,00 27 108, X
rgebnis 71, 108] 28, 79,00 21: 108 X
w1 | 100, .00
rgebnis 100, .00
w2 1-G 100, 00
100, .00
G 100, 10,00 1
/iia 100, .00
/3 100, .00
rgebnis 100, 23,00 23
Ergebnis 85, 864| 14, 5.650,00 4910 740] I 183,00 59 322%) 124 67.8%)
BMIZENTRALE | A Vil 50, 250, 4,00 2 2 X
I} 82, 7|17, 37,00 30 7 X 2,00 2] 100.0%
rgebnis 79, 9|20, 41,00 32 9 X 2,00 2] 1000%
AL 100, .00 5
71, 4] 286 13,00 10 X 1,00 1 100.0%)
71, 6 26,00 20 X 2,00 2] 100.0%)
77, 1 4 48,00 38 1 X 1,00/ 1 100.0%)
83, .7 .00 .
80, .0 15,00 1 X
100, 00
71, 2| 286% .00 2 286%
L 100, .00
rgebnis g 2§‘ g 129,00 104 23‘ ¥ 4] 100,
A2 X 4|50, 6.00 2 X 1000 %|
X 6] 50, 11,00 5/ X 100,
X 9] 31, 28,00 @‘ 8 X 100.0 %|
X 40| 35, 106,00 7 33 E 100,
X 23] 27, 83,00 [3 22] X 1000 %|
78, 3|21, 13,00 1 3 X 1 1000%)
100, | .00
L 100, .00 [
rgebnis X 85| 324 249,00 17 13,00 1 7% 12 923 %)
A3 , 6 66, .00 X
X 39] 62, 53,00 23] Y 9,00 o 1000%
. 45|78, 00 1 X 6,00 6 1000%
¥ 16 84, 00 ¥
X 8] 80, 00 X X
K 7|38, 00 1 . X
50, 1[50, 00 50, X
55, 4] _4a, .00 55, 14,
L 6. 2| 33 .00 X X
rgebnis 3, 128] 66, 177,00 64 ¥ 11! ¥ 15.@| 15| 100,0%)
AL 7, 3[ 42, .00 g X
4, 6| 85, .00 . 83, 1,00 1 1000%
L 100, 00 100,
rgebnis 23/ 9] 563% 15,00 6, 8 533% 1.00[ 1 1000%
AS 50, 1] 500% 00 50, 1 500 %
L 100, .00 100,
rgebnis 85, 1 143% .00 85, 1 143%
AS L 100, .00 100,
rgebnis 100, .00 100,
AT L 3] 1000% .00 3 1000%
rgebnis 3] 1000% 00 3[_1000%
ADV-SV 100, 12,00
84, 4 154% 25,00 3 120% 1 @' 1 1000%)
100, 15,00
64, 9 360% 25,00 9 36,0 % [
1 1000 % .00 1] 100,0%
167% 5| 833% .00 2 66.7 % 3,00 3| 1000%
B 1000% .00
rgebnis 77.9% 19] 221% 82,00 15| 183% 4,00 4 1000 %
icht
ADVIT o et 100,0 %, 5,00
Ergebnis 1000% .00
B v 100,0 % .00
100, 00 100,
| 85.7% 14, .00 6 85.7% 14,
Ergebnis 700% 30, 10,00 7 70,0 % 30,
€ i 100, .00 100,
v 33; 66, 00 33; 66,
33, 66, .00 33, 66,
rgebnis 28, 714 .00 28, 714
E it 100, .00 100,
rgebnis 100, .00 100,
E1 100, .00 100,
100, .00 100,
100, 00 100,
100, .00 100,
100, .00 100,
1 100, 00 100,
rgebnis 100, 00 2 100,
E2a 90, 10, 00 90, 10,
86, 13, 00 50 87, 12, 1.00] 1 100.0%)
91, X 00 54 91, X
95, X 114,00 95, ;
98, . 00 98, K
100, 00 100,
rgebnis. 93, 20 64% 312,00  293] 93,4 19 6.1% 1,00 1] 100,0 %
E2b L 82, 26] 179% 145,00 119 82, 26 179%
rgebnis 82, g 179% 145,00 119 82, g 179%
D cht 364% 7| e36% 11,00 4 364% 7 636%
rgebnis 36, 7| 636% 11,00 36, 7 636 %
P1 100, .00 100,
rgebnis 100, 00 100,
P2 100, .00 100,
rgebnis 100, 00 100,
b B 100,0 %, 1,00 1| 1000%
ugeordnet
Ergebnis 100,0 % 1,00 1 1000%
C e P 50,0%: 1| 500% 2,00 1 50,0%: 1 50,0%:
Ergebnis 500 % 1] 500% 2,00 1 500 % 1 500 %
d Nic 333% 2| 667% 3,00 1 333% 2 66,7 %
ugeordnet
Ergebnis 333% 2] 667% 3,00 1 333% 2 66.7 %
e Nent 1000% 1,00 1| 1000%
rgebnis 100, 00 1100
hi 100, .00 1] 1004
rgebnis 100, 00 1100
h2 100, 10,00 10 100
100, 00 2] 100,
100, 00 3] 100
rgebnis 100, 15,00 15| 100
h3 100, 00 9| 100, 1,00 1 100.0%
rgebnis 100, 00 o 100 15‘ 1 100.0%)
ha 1, 14| 583% 24,00 10 41, 14 58.3% [
rgebnis a1, 14] 583% 24,00 10 1, 14 58.3%. [
h5 26[ 100,0% 24,00 | 24 1000 % 2,00 2 1000 %
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Ergebnis 26| 100,0% 24| 1000% 2,00] 2| 1000%)
3 Nicht 100,0 % 1| 1000%
Ergebnis 1000% 1 1000%
a4 N.I.?:m et 50,0 % 1| 500% 1 50,0 % 1 50,0 %
Ergebnis 50,0% 1] 500% 1 50,0% 1 50,0%
p5 et 1| 1000% 1 100,0 %
rgebnis 100, 100,
vi 1. 11[ 68, 5 7 64, 2,00 2] 1000%)
7. 11| 52, 10 X 1 50, 1,00 1 1000%)
6. 21 53, 18 X 1 47, 5,00 5[ 1000%
4, 55, 4 X 55,
100, 2[ 100,
Nicht N B
rgebnis 438% 50] 39 481% 2 8,00 8 1000%
V1 (Ausb.) 400% 24] 16 410% 23 1,00 1 1000%)
1] 10
rgebnis 390% 25 6 16 400% 2 1,u_o| 1 1000%)
V2 1] 10
5/ 100,
21| 81! 3 136% 19 2,00 2] 1000%)
4670, 19 333% 38 8,00) 8 1000%
Nicht 1| 1000%
rgebnis 73| 23 ; 63 10,00 1§| 1000 %
V2 (Ausb.) . 7 . 7
rgebnis. ¥ 7| ¥ 7| | |
V3 X 19 y 18 1,00 1 1000%)
z ﬂ ) 52 18,00, 18] 1000%
21, 58] 1 X 51 7,00 7| 1000%)
24, 5 X 5[ [
rgebnis k 152 32 } 126 26,l£| 26]  1000%
V3 (Ausb.) X . 4
rgebnis X X 4
va X 1 . 4 2,00 2] 1000%)
K 7 1 16, 50 24,00, 24 1000%
y 33| 152 28 6,00 1 16.7% 5 833 %
Nicht
e net 400% 12| 8 400% 12
rgebnis 21, 125, 33 2, 9 32@' 1 31% 31] 96.9 %
4 (Ausb.) 20, 20,
rgebnis 20, 20,
Vs 60, 55, 1,00 1 1000%)
rgebnis 60, 55, 1,00 1 1000%)
Ergebnis 57, 833 L 1118 60, 718 121,00/ 6 5.0%) 15 650%
LPK NO-WIEN 5 1 4| 4
Ergebnis 4| 100, 4
5 "‘I"';':" et 2| 1000% 2
rgebnis 1000
v 3. 66,7 33,
rgebnis 33, 66,7 33,
V3 (Ausb.) 50, 50, 50,
rgebnis 50, 50, 50,
v 33, 66. 33,
100, 2,00 2] 1000%)
rgebnis 20, 80, 3. 2 66,7 % 2,00 2] 1000%)
Ergebnis 18, 1381, 21, 1 78,6 % 2,00 2] 1000%)
BAA Zentrale AL 100, 100,
rgebnis 100, 100,
A2 66, 3. 66, 33,
rgebnis 66. 33, 66,7 33,
A3 100, 100,
rgebnis 100, 100,
vi 1000 % 1 1000%
Nicht
et 2| 1000% 2| 1000%
rgebnis 333% 2[ 667% 1 333% 2 66.7%
V1 (Ausb,) 40,0% 3] 600% 2 400% 3 60,0 %
1000 % 1 1000%
100, 100,
rgebnis 429% 57, 3 429% 57,
v2 100, 100, 1,00 1 1000%)
rgebnis 100, 100, 1,00 1 1000%)
v 100, 100,
333% 66. X 333% 66.
jcht
1| 1000% 1| 1000%
rgebnis 1L1% 8 88, 1L1% 88,
V4 4| 100, 100, 1,00 1 1000%)
rgebnis 4| 100, 100, 1,00 1 1000%)
V4 (Ausb) 1["100, 100,
rgebnis. 1] 100, 100, |
Ergebnis 306 %) 25 69, 324% 23 67, 2@' 2] 1000%)
BMI BP POOL EL 1[ 100, 1 100
100, |
100, [
100, X 1,00] 1] 100,0 %
90, i 01% 1 51%
93, 2 65% 2 6.5%)
100,
100,
1 100,
12 100,
L 100,
rgebnis 9, 4 g 1,00 1 1000%)
E2a 90, . 1 . 1@' 1 1000%)
88, 12, 3 12,
9. Y 5 X
93, 4
100,
98, 1 17% 1 17%)
L 100,
rgebnis 95, 15 46% 14] 43%) 1,00 1 1000%)
E2b L 83, 24] 168% 2 17.0% 2,00 2] 1000%)
rgebnis 83, 24] 168% 2 17.0% 2,00 2] 1000%)
WL 1 100,
Vil 100,
Ergebnis 100,
w2 W2 100,
Ergebnis 100,
Ergebnis 9, 3| 77%) 22| 7.6 %) 4.00| 3 750 % 1 250 %
EKO Cobra Wien | E1 3 100,
4 100,
100,
100,
rgebnis 100,
E2a 100,
100,
100,
100,
100,
rgebnis 100,
E2b GL 100,
rgebnis 100,
Ergebnis 100,
) Nicht
BZS WIEN Aligemein 1| 1000% 1| 1000%
rgebnis 1] 1000% 1 1000%
E1 1000 % 1,00 1 1000%)
1] 1000% 1 1000% _|
100,
rgebnis 66, 1 833% 1 50,0 % 1,00 1] 1000%)
E2a 100,
100, |
1 1000% 1,00 1 1000%)
76, o 23.7% 778 8 222% 2,00] 1 500% 1 500 %
100, 1000
rgebnis 78, 814 18, 3.00) 1 333% 2 66.7%
E2b L 66, 66,7 33,
rgebnis 66, 66,7 33, |
h5 100, 1,00 1 1000%)
rgebnis 100, 1,00 1 1000%)
va 100,
rgebnis. 100, |
Ergebnis 60.6% 623% 23 37, 5.00] 2 400 % 3 600 %
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BAAWIEN AL 100, 100,
100, 100,
100, 100,
rgebnis 100, 100,
A2 83, 16, 80, 1 200% 1,00 1 1000%)
50, 50, 1 50,0 % _|
rgebnis 75, 71, 2 286% 1,00 1 1000%)
A3 1,00 1 1000%)
rgebnis 1,00 1 1000%)
V2 100,
rgebnis 100,
v2 (Ausb.) 100,
rgebnis 100,
v 100,
rgebnis 100,
va 1 1 100,
rgebnis 1 1 100
Ergebnis 36, 2 34, 15 65, 2,00] 1 500% 1 500%
UBAS Wien ADV-SV 3 100, 100,
Ergebnis 100, 100,
Ergebnis 100, 100,
Zentr. Melder. AL 100, 100,
rgebnis 100, 100,
A3 100, 100,
rgebnis 100, 100,
v 100, 100,
rgebnis 100, 100,
Ergebnis 250% 75, 1 250% 75,
AbL. 1/5- SIAK A Vil 100, 1,00 1 1000%)
i 66, 33, 66, 1 B3% _|
rgebnis 50, 50, 66, 1 333% 1,u_o| 1 1000%)
AL 100, 100,
100, 100, 1,o_o| 1 1000%)
100, 100,
100, 100,
rgebnis 100, 100, 1,00 1 1000%)
A2 50, 50, 50, 50,
75, 25, 75, 25,
rgebnis 66, 33, 66, 33,
A3 100, 100,
100, 100,
rgebnis 100, 100,
’ jcht
Aligemein o 2| 1000% 2| 1000%
Ergebnis 100, 100,
B 100, 100,
I 100, 100,
rgebnis 100, 100,
E1 100, 100,
100, 100,
100, 100,
rgebnis 100, 1 1 100,
E2a 1] 1000% 1 1000%
100, 100,
100, 100,
100, 100,
100, X 100,
rgebnis 94, i 59% i 1 94, 1 59%
E2b L 50, 1] 500% 50, 1 50,0%
rgebnis 50, 1] 500% 50, 1 50,0 %
D el 222% 7| 778% 2,00 2 222% 7 77.8%
ugeordnet.
rgebnis 222% 7|77, 2 222% 77,
Vi 100, 100,
500 % 50, 1 500 % 50,
rgebnis B3% 66, 1 333% 66,
V1 (Ausb.) 100, 100,
rgebnis 100, 100,
v2 1000 % 1 1000%
100, 100,
100, 100, 1,00 1 1000%)
rgebnis 16.7% 83, 1 200% 80, 1@' 1 1000%)
V3 100, 100,
B3% 66, 1 B3% 66,
rgebnis 200% 80, 1 200% 80,
va 100, 100,
rgebnis 100, 100,
Ergebnis 57, 3642, 58, 3 42, 3.00] 1 333% 2 66.7%
SIDNG AL 100, 100,
100, 100,
100, 100,
rgebnis 100, 100,
A2 66, 1 333% 66, 1 333%
100, 100,
100, 100,
rgebnis 80, 1] 200% 80, 1 200%
A3 100, 100,
100, 100,
1] 1000% 1 1000%
rgebnis 754 1 250% 754 1 250%
AL 100, 100,
rgebnis 100, 100,
E1 100, 100,
rgebnis 100, 100,
E2a 100, 100,
100, 100,
100, 100,
100, 100,
100, 100,
100, 100,
rgebnis 100, 100,
vi 100, 100,
rgebnis 100, 100,
V1 (Ausb.) 100, 100,
rgebnis 100, 100,
V2 100, 100,
rgebnis 100, 100,
v 100, 100, 1 1000%)
rgebnis 100, 100, 1 1000%)
V3 (Ausb.) 100, 100,
rgebnis 100, 100,
va 33, . } ;
rgebnis 33, 4|66, E ;
Ergebnis 72, 17|21, i 16 ; 1,00 1 1000%)
LPKNO AL 48, 46 51, . 39 X 10,00 3 300% 7 700 %
rgebnis 48, 46| 51, 3 39 i 10,00 3 300% 7 700 %
A2 1[ 100, 100,
rgebnis. 1] 100, 100, |
A3 1[ 100, 100,
425% 4|57, 400% 60, 2,00 1 500% 1 500%
L 50,0 % 50, 50,0 % 50,
rgebnis 400% 60, 375% 62, 2,00 1 500 % 1 500 %
AL 100, 100,
rgebnis 100, 100,
Aspirant Aspirant 635% 1936, 635% 19 36!
rgebnis 63.5% 1j 36, 63,5% 1 36,
G 100, 100,
rgebnis 100, 100,
E1 90, 9. 90, 9.
0, o, 90, 9.
94, 5. 94, 5.
100, 100,
100, 100,
100, 100,
0 100, 100,
1 100, 100,
L 100, 100,
rgebnis 95, 3 _a7% 95, 3 4.7%
E2a 100, 100,
5, 6] 42%) 6, 3 35% 11] 786 % 3 214%
9%, 14 35% 9%, 14 35% 4] 1000%
8, 4 13% 99, 3 10% 1 1000%)
100, 100,
100, 100,
98, 1 18% 9, 1 18%,
L 100, 100, .00 2| 1004
rgebnis 97, 35| 23%) 1,509,00 97, 31 21%) 21,00/ 17 1, 4 190%
E2b L 87, 340] 12.1% 2.722,00 89, 281 103% 00| 1§| 4, 59| 75,6 %
rgebnis 87, 340] 121% 2.722,00 89, 281, 103% 19| 4, 59| 75.6 %
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E2c L 13| 56, 1% 435% 1 56. 10| 435%
rgebnis 13] 56, 10 435% 1 56, 10 435%
w2 I-C 100, 100,
- 11] 100, 1 100,
100, 100,
100, 100,
rgebnis 19] 100, 19| 100,
WD Nicht 17| 60,7 %, 11| 393% 17 63,0 % 10 37,0 % 1,00 1| 1000%
rgebnis 17|60, 11] 393% 17) 63 10 37.0% 1,00] 1 1000%)
hi 1[_100, 100,
rgebnis 1[_100, 100,
h2 4] 100/ 100,
rgebnis 4] 100/ 100,
h3 100, 100,
rgebnis 100, 100,
ha 100, 100, 00| 1 100.0%
rgebnis 100, 100, ,@I 1 100.0%)
hs 102| 100,0%. 10 1000% 92,00
rgebnis 102] 100,0%. 10 1000% 92,00
p5 ! .I:.:,Tm et 35| 100,09% 1 100,0 % 34,00 34, 1000 %
rgebnis 35] 1000% 1 1000% 34,00 34| 1000%)
Vi 1[_100, 1,00/ 1 1000%
rgebnis 1] 100, 1,00 1 100.0%)
v3 4] a0, X 0,
. 1 . 10, 2,00 2] 100.0%
rgebnis 22, 1 4 25, 2,00 2] 1000%
V3 (Ausb)) 66, . 66,
rgebnis 66, 3 66,
va 100, 100,
16, 15[ 83, 16,
1/ 100,
rgebnis 4|20y 16|80, 4 20,
Ergebnis 4.169] 86, 644| 13, 2127 90, 242,00 42| 174%) 200 82,6 %)
BPD ST.POLTEN | A Vil 100, 100,
rgebnis 100, 100,
AL 100, 100,
100, 100,
L 100, 100,
rgebnis 100, 100,
A2 100, 1 1000%
100, 2 1000%
100, 2 1000%
2] 66.7% 33, 2[ 1000% 1,00 1 100.0%
100, 100, _|
rgebnis 2] 222% 77, 2 250% 75, 1@' 1 100.0%
A3 100, 100,
100, 100, 2,u_o| 2 1000 %
100, 100,
100, 100, [
100, 100, |
rgebnis 17| 100, 15[ 100 2,@' 2] 100.0%
AL 100, 1] 100
rgebnis 100, 1100,
Vi 100, 2,00 2] 1000%)
rgebnis 100, 2,00 2] 100.0%)
v3 100, 100,
100, 100, 1,00 1 1000%
rgebnis 100, 100, 1,00 1 1000%)
va 1| 100, 100,
1[ 100, 100,
2[ 100, 100,
rgebnis 4100, 100,
Ergebnis 6| 1456% 35|85, 6 171% 29 82, 6.00] 6 1000%
Ast. Melk/Ged. D Nicht 1| 100,0% 1| 1000%
Ergebnis 1] 100,0% 1 1000%
Ergebnis 1 100,0% 1] 100,0%
EKO Cobra. A3 100, 1,00 1 1000%
rgebnis 100, 1,00 1 100.0%)
AL L 100, 1 1000%
rgebnis 100, 1 100,0 % |
EL 100, |
100 1,00] 1 100,0 %
100,
100,
100,
0 100,
rgebnis 100, 1,00( a 100,0 %
E2a o[ 100,
17|94, 1 56% 1 56%
14100,
100,
100,
100,
rgebnis 56| 98, 1 18% 1 18%)
E2b L | 6] 100,
rgebnis | 66| 1004
h2 75, 125, 1 25,
rgebnis 75, 125, 1 25,
ha 28, 10] 71, 10 71,
rgebnis 28, 10[ 71, 10] 71,
Vi 1[_100, 1,00 1 1000%
rgebnis 1] 100, Loﬂ 1 100.0%
v3 100, 100,
rgebnis 100, 100,
va 100, 100,
rgebnis 100, 100,
Ergebnis 89,2 % 1 10,4 138] 89,6 % 1¢ 10, 3,00( 2 66,7 %)| 1] 33,3 %)
BPD
SCHWECHAT A il 2| 100,0% 2| 1000%
rgebnis 100, 100,
AL 100, 100,
rgebnis 100, 100,
A2 100, 100,
50, 2[ 500% 50, 2 50,0%
100, 100,
rgebnis 71, 28, 71, 2 286%
A3 100, 2@‘ 2 100,0 %
100, 100,
100, 100, |
33, 66, 33, 66,
rgebnis 11, 88, 14, 85, 2,00 2] 1000%
AL L 100, 100,
rgebnis 100, 100,
B I 100, 100,
rgebnis 100, 100,
vi 100, 2,00 2] 100.0%
rgebnis 100, 2,00 2] 100.0%)
v3 1] 100, 1,00 1 1000%
4] 100, 4 1000%
2[ 100, 1 100,0% 1 1000%
rgebnis 7| 100, 5[ 1000% 2] 1000%
V3 (Ausb)) 1 100,0% 1 100,0%
rgebnis 1] 100,0% 1 1000%
va 1 1000 % 1 100,0%
rgebnis 1[ 1000% 1 1000%
Ergebnis 14[ 238% 18] 563% 12] 26.2% 14 53.8% 6,0_0| 2 333 %) 4 66.7 %!
BZS TRAISK. A2 1] 100,0% 1 1000%
rgebnis 1 100,0% 1 100,0%
A3 1] 1000% 1,00 1 1000%
1[ 1000 % 1 100,0%
rgebnis 2[ 1000% 1 1000% 1,00 1 1000%
Allgemein ! I"fm et 1 500% 1 500% 1 1 50,0 %
rgebnis 50, 1] 500% 1 50,0 %
E1 100,
100,
100,
rgebnis 100,
E2a 100,
100,
100,
100,
90, 2| 95%) 1 2| 9,5 %
100,
rgebnis. 94, 2| 57% 33 2| 5,7 %]
E2b GL 3] 75/ 1] 250% 3 1 25.0%
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rgebnis 3| 750% 1| 250% 3 75.0% 1 250%
h2 1] 100,0% 1 1000%
1 100,0%: 1 100,0%
1] 1000% 1 1000%
rgebnis 66, 1] 333% 66, 1 333%
h3 100, 100,
rgebnis 100, 100,
ha 28, 5|71, 33, 66, 00| 1
rgebnis 28, 5]_71, 33, 66, 00| 1 6|
hs 1 12[ 100, 100, 10,00 10
rgebnis 1 12[ 100, 100, 1 @' 10| 6]
v3 1[ 100, 100,
rgebnis 1[ 100, 100, |
v4 100,0 % 1] 100,0 % |
1] 1000% 1,00 1 1000%
rgebnis 50,0% 1] 500% 1 1000% 1,00 1 100.0%)
Ergebnis 7 65.3% 26| 347% 29 79.0% 13 210% 13,00 13[ 100.0%)
BAANO AL 1000 % 1 1000%
1] 1000 100, [
rgebnis X 1| 500 X 50, |
A2 . 4] 667 X 60, 1‘o_o| 1 1000%
X 50, X 50,
rgebnis | 62, X 57, 1,00] 1] 100,0 %
A3 100, 100,
rgebnis 100, 100,
AL 100, 100,
rgebnis 100, 100,
E2b L 1] 100,0% 1 1000%
rgebnis 1 100,0% 1 100,0%
icht
c 1| 100,0%
Ergebnis 1 1000%
" e w0
rgebnis 100,
Vi 100,
rgebnis 100,
v2 2] 400% 2 50,0% 50, 1,00 1 1000%
rgebnis 2] 20,0% 2 50,0% 50, 1,00 1 100.0%)
v3 100,
rgebnis 100,
va 1 100, 3,00 3 1000%
rgebnis 1 100, 3,00 3 100.0%)
Ergebnis 7| 19.4%) 7 226% 2 77, 5,00 5[ 1000%)
BPD
S 2 2| 100,0% 2| 1000%
1 100,0 % 1 100,0%
rgebnis 3[100,0% 3 1000%
A2 1 100,0 % 1] 100,0%,
100, 100,
1] 50.0% 50, 1 50,0% 50,
rgebnis 2] 50,0% 50, 2 50,0 % 50,
A3 100, 100,
100, 100, 1@‘ 1] 100,0 %
100, 100,
100, 100, |
rgebnis 1 13[100, 1 100, 1,00[ 1 1000%
AL L 100, 100,
rgebnis 100, 100,
icht
d b 1| 100,0 % 1| 100,0%
rgebnis 1] 100,0% 1 1000%
vi 2[100,0 % 1] 100,0%, 1,00 100,0 %]
rgebnis 2[_100,0% 1 1000% 1,00 100,0 %)
v2 1[ 1000 % 1,00 1 1000%
1] 100,0% 1 1000%
rgebnis 1] 50.0%) 50, 1 100,0% 1,00[ 1 1000%
v2 (Ausb) 100, 100,
rgebnis 100, 100,
v3 100, 100,
100, 100,
50,0 %! 50, 1 50,0 %! 50,
100, 100,
rgebnis 16.7 %) 83, 1 16.7% 83,
va 100, 100, 3,00 3 1000%
rgebnis 100, 100, 3,00 3 1000%)
Ergebnis 4 25, 30|75, 26, 25 73, 6.00) 167% 5 83,3 %)
BAANO Erstaufn | AL 100, 100,
rgebnis . 100, 100,
A2 2 66, 33, 1 70, 6 300% 1,00 1 1000%
X 66 33, 66 1 333%
rgebnis 2 66.7 33, 1 696 7 304% 1,00 1 1000%
A3 100, 2,00 2] 1000%
rgebnis 100, 2,00 2] 1000%)
V1 (Ausb) 1000 1000
rgebnis 1000 1000
v2 66.7 33, 66,7 33,
rgebnis 66.7 33, 66,7 33,
V3 100, 100,
100, 100, 1,00 1 1000%
rgebnis 4100, 100, 1,00 1 1000%
v 1/ 100, 100,
18, 18| 100, 16] 100 2,00 2] 1000%
rgebnis 1 19[ 100, 17[ 100 2,00 2] 1000%)
v4 (Ausb) 1[_100, 100,
20, 4|80, 33, 66. 2,00 2] 1000%
rgebnis . 16, 5[ 83, 25, 75, 2,00/ 2] 1000%)
Ergebnis 6 35, 39] 65, 2 40, 3 50, 8,00 8] 1000%)
BS Ost A2 50, 1[50/ 50, 50,
100, 100,
100, o _00% 100, [ 00%
100, 100,
100, 100,
rgebnis 85, 1 143% 85, 1 14.3%
A3 100, 100,
50, 50, 50, 1 50,0 %!
rgebnis 75, 25, 75, 1 25,0 %)
v2 100, 1,00 1 1000%
rgebnis 100, 1,00 1 1000%
v3 100,0 % 1 1000%
rgebnis 100,0% 1 100,0%,
v 50,0 %! 50, 1 50,0 % 50,
100, 100,
rgebnis 33, 66, 33, 66,
Ergebnis 1 68, 31, 1 73, 26, 1.00] 1 100.0%
BS Sid A3 6 100, 100,
Ergebnis 100, 100,
Ergebnis 100, 100,
1/5-SIAKITK A2 100, 100,
rgebnis 100, 100,
A3 100, 2 1000%
rgebnis 100, 2 1000%
v3 100, 1 100.0%
rgebnis 100, 1 100.0%)
Ergebnis 25, 75, 33; 2 66.7 % 1 100.0%)
SID BGLD AL 100, 100,
100, 100,
100, 100,
rgebnis 100, 100,
A2 100, 100,
100, 100,
rgebnis 100, 100,
A3 1 1000 % 1 1000%
1[ 1000 % 1 1000%
rgebnis 2[ 1000 % 2 1000%
E2a 100, 100,
100, 100,
100, 100,
100, 100,
100, 100,
rgebnis 1 100, 1 100,
V3 100, 100, 1 1000%
rgebnis 100, 100, 1 100.0%)
va 100, 100,
100, 100, 1.00] 1 1000%
rgebnis 100, 100, 1,00/ 1 100.0%)
Ergebnis 2 720% 28, 21, 2,00 2] 100.0%)
LPK BGLD A3 2 1000 %
Ergebnis 100,0 % |
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A4 1] 1000% 1| 1000%
L 100,
rgebnis 50, 1] 500% 1 50,0%
EL 100,
100,
100,
100,
100,
0 100,
rgebnis 100,
E2a 100,
5, 5 a X .00 60, 2 400%
97, 4] . .00 66. 1 333%
99, 11, X .00 100,
98, i1 . .00 100,
8, 11 :
100,
L 100, 1,00 1] 100
rgebnis 97, 12 22%) 9 17%, 13,00, 10| 231%
E2b L 89, 03] 105% 61 6.7% 64,00/ 22| . 656 %
rgebnis 89, 03[ 105% 61 6.7% 64,00 22 65.6 %
Metallverarbeitung | Nt 1000 %
rgebnis 100,
w2 16 100,
100,
rgebnis 100,
[ 100,
rgebnis 100,
n2 60, 4 3 383% 1,00
100,
rgebnis 63, 4 3 300% 1,00
15 20| 20,00
rgebnis 20| 20,00/
P4 |I:1:1r:nrdnm 1000 % 1,00 1 100,0 %
Ergebnis 1000% 1,00 1 1000%
p5 e 17| 1000 9% 17,00 17, 1000 %
rgebnis 17| 100,0% 17,00, 17]_ 1000%
vi 1000% .00 1 1000%)
rgebnis 1000% .00 1 1000%)
V3 50,0 % 50, 2] 1000% .00 2] 1000%
100, 100, .00 1 1000%)
rgebnis 222% 77, 2 333% 66, .00 3 1000%
va 100, 100,
13[ 100, 100, 4.00] 4 1000%
333 % 66, 1 333% 66,
rgebnis 5.6% 17|94, 1 7%, I 92, 2.00| 4 1000%
Ergebnis 89.1% 181] 10, 1aa0| _ 941% o 5. 123,00 33| 268% 50| 732%
BPD Eisenstadt__| AL 100, 100,
rgebnis 100, 100,
A2 1000 % 1 1000%
1000% 1 1000%
1 1000% 1 1000%
1000% 1 1000%
rgebnis 75,0% 1] 250% 3 750% 1 250%
A3 1000% 1 1000%
1[ 100, 100,
1] 100, 100,
4] 100, 100,
B3% 66, 1 333 % 66,
rgebnis 200% 80, 2 200% 80,
V2 100, 100,
rgebnis 100, 100,
v3 100, 100,
100, 2,00 2] 1000%)
rgebnis 100, 2] 1000% z@l 2] 1000%
va 100, 2] 1000%
1000% 1 1000%
rgebnis 333% 2[ 667% 1 333% 2 66.7%
v4 (Ausb) 1 1000% 1 1000%
rgebnis 1 1000% 1 1000%
v5 1000% 1 1000%
rgebnis 1000 % 1 1000%
Ergebnis 280% 18] 720% 7 304% 16 69,6 % 2,00| 2] 1000%
; Nicht
BZS BGLD Aligemein e ordnet 1| 1000% 1| 1000%
rgebnis 1 1000% 1 1000%
EL 100, 100,
rgebnis 100, 100,
E2a 100, 100,
100, 100,
100, 100,
rgebnis 100, 1 100,
E2b L 100, 100,
rgebnis 100, 100,
Ergebnis 92, i 7% 1 92, 1 7.7%
BAA BGLD AL 100, 100,
rgebnis 100, 100,
A2 50, 1] 500% 50, 1 500 %
100, 100,
rgebnis 66, 33, 66, 33,
A3 100, 100,
rgebnis 100, 100,
AL 100, 100,
rgebnis 100, 100,
V2 66,7 % 33, 2 66,7 % 33,
rgebnis 66.7% 33, 2 66,7 % 33,
v3 100, 100,
rgebnis 100, 100,
va 100, 100, 1,00 1 1000%)
rgebnis 100, 100, 1,00 1 1000%)
Ergebnis 3L 11 68, 3. 1 66, 1,00 1] 1000%)
SID 00 AL 100, 100,
100, 100,
100, 100,
100, 100,
rgebnis 100, 100,
A2 1] 1000% 1 1000%
500 % 1] 500% 1 500 % 1 50,0 %
1000% 1 1000%
100, 100,
rgebnis 40, 60, 40, 60,
A3 25, 75, 25, 75,
rgebnis 25, 75, 25, 75,
E1 100, 100,
rgebnis 100, 100,
E2a 100, 1 100,
100, 100, 1@' 1 1000%)
100, 100,
100, 100, |
100, 100,
rgebnis 100, 26 100, 1,00 1 1000%)
E2b L 50, 50, 1 50, 50,
rgebnis. 50, 50, 1] 50, 50, |
V3 100, 100, .00 100.0 %)|
rgebnis 100, 100, .00 100,
va 100, 100, .00 100.0 %)|
rgebnis 100, 100, .00 100,
Ergebnis 63.2% 21 36, 35 686 % 1 31, .00 1 16.7% 83,3 %)|
LPK 00 AL 100, 100,
rgebnis 100, 100,
A2 1000% 1 1000%
rgebnis 100.0 % 1 1000%
A3 4] 100, 100, 1@' 1 1000%)
1[ 100, 100,
L 66, 1| 33; 33, |
rgebnis 25, 6 75, 71, 1.00] 1 1000%)
AL 100,
L 100,
rgebnis 100,
Aspirant Aspirant 57, 20[ 426% 20 426%
rgebnis 57, zj‘ 426% 20 426%
E1 100,
100,
100,
100,
100,
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100,
100,
100,
) 100,
1 100,
L 100,
rgebnis 100,
E2a 100,
12 41% 97, 8 28% 7.00] 3 42.9%) 4 57.1%)
7 26% 97, 6 23% 3,00 2| 66,7 %! 1 333%)
100, 1,00 1 100.0%
100,
1 09%! 99, 1 0.9% |
100, [
L 100 ,o_o| 100
rgebnis 1 z_?‘ 1 1 X 15 . 13,00 61, 5 385 %)
E2b L 2 287| 14, 1 § 243 . 78,00 3 43, 44 564 %)
rgebnis 2 287| 14, 1 E 243 2 78,00 3 43, 44) 564 %!
E2c L 32| 39, X 32 X
rgebnis 32| 39, X 32 X
w2 G 1[_100, 100,
rgebnis 1[_100, 1100,
wD EB 1,00 1| 100,0% 1| 1000%
ugeordnet
Ergebnis 1 100,0% 1 1000%
a Nicht 1,00 1| 100,0% 1,00 1| 10009%)
Ergebnis 1 100,0% 1.00] 1 1000%)
Nict
d e ordnet 5| 1000 % 5| 1000%
rgebnis 5[ 1000% 5[ 1000%
hi 100,0 %,
rgebnis 100,0 %!
h2 1 3 214% 9L7% 1 83% 2,00 2] 1000%
1 100.0%
rgebnis 1 3] 200% oL, 1 83% 1 333%) 2| 66.7 %!
h3 100,
rgebnis 100,
ha 25 83, 1 16, 50, 1 50,0 %]
rgebnis 25 83, 1 16, 50, 1 50,0 %|
hs 7 74|98, 18] 100, 1, 56 9,
rgebnis 7 74|98, 18] 100, 1, EI 9,
5 —.I:.:,Tm et 2 24| 100,0% 24| 1000%
rgebnis 2 24] 100, 24| 100,0%)
V3 1 100% 90, 100% 9 90,
1 143% 12| 85, 154% 11 84, 1.00] 1 100.0%
100, 2[ 100 1,00/ 1] 100.0%)
rgebnis 2 111% 24] 88, 120% 22] 88 2,00 2] 100.0%)
3 (Ausb) 100,0 % 100,0 %
rgebnis 1000% 100,0 %!
va 1 10100, o 100 1] 100
1 105% 17|89, 133% 13 86, 4] 1000%|
111% 8] 88, 143% 6 85, 2] 100,
rgebnis 3 79% 35| 92, 9.7% 28] 90, 7] 1000 %]
4 (Ausb) 4 100, 100, 1] 100
rgebnis 4100, 100, 1 1000 %]
Ergebnis 3.57¢ 537] 15, 88, 394 11, 1 46, 243%) 143 75,
BPD LINZ AL 150, 50, 50,
1] 33, 100, 1 1000%)
100,
100,
100,
L 100,
rgebnis 1 2[ 182% 90, 1 100% 1,00[ 1 1000%
A2 1] 333% 66, 1 333%
2[ 667% 33, 2 66.7%
100,
X 100,
rgebnis 1 327, 72, 27,
A3 3[ 100, 100, 2,00 2] 1000%
1/ 100, 100, _|
1 231% 1076, 300% 70, 3@' 3 1000%
1 36.4% # 63, 36.4% 63,
50,0 % 1[50, 50,0 % 50, |
1/ 100, 100, |
rgebnis 3: 23] 74, 30, 18[ 69, 5@' 5 100,0 %
AT L 100,
rgebnis 100,
E2b L 1 250% 100, 1,00 1 1000%
rgebnis 1] 250% 100, 1,00 1 100.0%)
Vi 100,
rgebnis 100,
v2 100, 00 00,
rgebnis 100, 00 00,
v3 100, 00 00,
100, 6.00 6 1000% 00 00,
100, 2,00 2 1000%
rgebnis 1 16[ 100, 8,00 8 1000% 00
v 1[ 100, 00 X
11, 91% 1090, 1 111%) 8| 88, 00
5[ 100, 2[ 100 00 X
rgebnis 17, 59% 16| 94, 1 91% 10 90, 00
Ergebnis 9 34,7 %) 62| 65, 33] 45.2%) 40 54, 22,00 22| X
EKO COBRA Mitte | E1 4 2,00 2| 100,0% 2| 1000%
100, 100,
rgebnis 100, 100,
E2a 100,
100,
100,
100,
100,
rgebnis
E2b L
rgebnis
Ergebnis
BPD STEYR AL
rgebnis
A2 4] 80,0%) 4 80,0 %!
L
rgebnis 57, 57,
A3 100, 100, 2,00 2 1000%
100, 100, 1,00 1 1000%
100, 100,
100 100 |
rgebnis 14[ 100, 1 100, 3,00 3[ 1000%
vi 2[_100,0% 2,00 2 1000%
rgebnis 100,0% 2,00 2] 1000%)
v3 100, 2 1000%
100, 00 0|
rgebnis 100, 2 1000% 00 0|
v 100, 00 6|
100, 2 1000% .00]
rgebnis 8 100, 2 1000% 00| 6|
Ergebnis 3 21, 29| 78, 24 19 760% 12,00 2| 16.7 %) 10
BZS 00 E1 100, 100,
100, 100,
rgebnis 100, 100,
E2a 100, 100,
1 100, 1 100,
100, 100,
rgebnis 1 100, 1 100,
E2b L 100, 100,
rgebnis 100, 100,
v3 100, 100,
rgebnis 100, 100,
Ergebnis 1 938 6. 15 938 6,
BAA OO A2 66.7 33, 4] 66.7 33,
100,0 1 1000
rgebnis 714 2] 286% 5 714 2 286%
A3 1[ 1000 % 1 1000%
rgebnis 1[ 1000 % 1 100.0%)
Vi 100,0 %, .00 1 1000%
rgebnis 1000% .00 1 100,0%
Vi (Ausb) 1[ 1000% .00 1 1000%
1[ 1000 % .00 1 100,0%
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rgebnis 100, 100,
v2 100, 100,
rgebnis 100, 100,
V2 (Ausb.) 100, 100,
rgebnis 100, 100,
v3 100, 100,
rgebnis 100, 100,
va 100, 100, 1,00 1 1000%
rgebnis 100, 100, 1,00 1 100.0%
Ergebnis 213% 16] 72, 6 300% 14 70, 2,00 2] 100.0%)
BPD WELS A " 100, 1100,
rgebnis. 100, 1] 100, |
AL 100, 1 oﬂ' 1 1000 %
100, 100,
100, 100, |
L 100, 100, |
rgebnis 75, 1 250% 100, 1,00 1 1000%
A2 1[ 1000 % 1,00 1 1000%)
100, 100,
100, 100, |
rgebnis 83, 16, 100, 1.00] 1 1000%
A3 25, 75, 25, 75,
100, 100,
50,0% 50, 1 50,0% 50,
rgebnis 25.0% 75, 2 25.0% 75,
€ 100, 100,
rgebnis 100, 100,
E2b GL 100, 1 1000%
rgebnis 100, 1] 100,0%,
vi 100, 1 1000%
rgebnis 100, 1 1000%
v2 100, 100,
rgebnis 100, 100,
v3 100, 100,
100, 100, 3 1000%
333% 66, 66,
rgebnis 77% 12[ 92, 90, 3 1000%
va 100, 100, 3 1000%)
100, 100,
rgebnis 100, 100, 3 1000%
Ergebnis 30, 30|69, 2] 64, 1 11% 8 88,9 %)
AL 100,
rgebnis 100,
A2 100,
100,
rgebnis 100,
A3 100,
rgebnis 100,
v2 100,
rgebnis 100,
v2 (Ausb) 100, 100,
rgebnis 100, 100,
V3 100, 100,
100, 100,
rgebnis 100, 100,
va 100% 90, 87, 2] 1000%
rgebnis 10,0 %! 90, 87, 2] 100.0%)
v (Ausb) 100, 100,
100, 100,
rgebnis 100, 100,
Ergebnis 53,1 %) 1546, 1 43, 2 1000%
BS Nord A3 1] 100, 100,
rgebnis 1] 100, 100,
h3 100,
rgebnis 100,
v3 100,
rgebnis 100,
Ergebnis 75, 1 250% 1 250%
FEST Linz - E2a 1 100,
100,
100,
rgebnis 100,
E2b GL 100,
rgebnis 100,
Ergebnis 100,
BS West A2 100,
rgebnis 100,
A3 1] 1000% 1,00 1 1000%
rgebnis 1[ 1000 % 1,00 1 100.0%)
va 100,
rgebnis 100,
Ergebnis 66, 1 333% 1,00 1 1000%)
Gedenks. Mauth. | A2 100,
rgebnis 100,
A3 1 1000 % 1 100,0%
rgebnis 1[ 1000% 1 1000%
h2 100,
100,
rgebnis 100,
h2 (Ausb.) 100,
rgebnis 100,
hs 2[ 1000% 1 1000% 1,00 1 1000%
rgebnis 2[ 1000 % 1 100,0% 1,00 1 100.0%)
v2 100,0 %,
rgebnis 1000%
v3 100, 00 100,
100, 100, 00| 1000 %|
rgebnis 100, 100, ,00] 100,
va 100, 100, 00 100,
rgebnis 100, 100, 00| 100,
Ergebnis 35.7% 64, 50, 4,00 4] 1000%|
LPK STEIERMARK| A3 1 50,0% 1| 500% 1 50,0%
429% 4 571% 4] 571%
rgebnis 24.4% 5| 556% 5 55.6 %
AL 100,0 %,
3[ 1000 % 1 100,0% 2,00 2] 1000%
GL 83, 1 167% 1,00 1 1000%)
rgebnis 73, 4] 267% 1 83% 3,00 3 100.0%)
A5 100,
rgebnis 100,
A6 L 100,
rgebnis 100,
EL 100,
91, 1 83% 1 83%
100,
100,
100,
100,
100,
) 100,
1 100,
L 100,
rgebnis 98, 1 18% 1 18%
E2a 100,
92, 18] 7.9%) 13 60% 11,00 6 545 %) 5 455 %)
96, o 35%) 9 36% 3,00 3] 1000%
97, 5| 23% 5 23% _|
100, 00| 2] 100.0%
98, 2[_18% .00/ 2] 1000%
100, 00 100/
L 90, ZI 3 E .00/ 2) 3 1 ¥
rgebnis 9.4 38 3, 30 X 22,00 14 8
E2b L 86, zﬁ 13, 215 10, 86,00 22| . 64, X
rgebnis 86, 279] 13, 215 10, 86,00 22 64
E2c L 57, 22| 42, 22 42,
rgebnis 57, 22| 42, 22 22,
Metallverarbeitung | Nt 1000 %
rgebnis 100,
P2 100,
rgebnis 100,
P4 100,
rgebnis 100,
w2 G 100,
i3 100,
rgebnis 100,
jicht
W) zugeordnet 100,0 %/
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Ergebnis 2,00 2| 100,0 % 2,00 100,0 % |
a Nicht 1,00 1| 100,0% 1,00 1| 10009%)
Ergebnis 1,00 1] 100,0% 1,00 1 1000%
d Nic 800 8| 100,0% 7| 1000% 1,00 1| 1000%)
ugeordnet.
rgebnis 8] 1000% 7 1000% 1 _o| 1 100.0%
hi
rgebnis
h2 1 143% 1 167% 1,00 1 100.0%)
1,00 1 100.0%
rgebnis 1 1 91w 1 111% 2,00 2] 1000%
h3
rgebnis
ha 3] 60, 2 66, 1 50,0 %! 6|
rgebnis 3] 60, 2 66, 1 50,0 %! 6|
hs [ 59| 96 13 86,
rgebnis 6 59| 96, 13 86, 6|
= e | 300 1] woow
Ergebnis 1,00 100,0 %
5 N 38,00 38| 1000% 38,00 38| 1000%,
rgebnis E 38]_100, 38,00/ 38[ 100/
V3 5] 62, 3 50,0 % 00| 2] 1000%|
5|83, 4 80,0 % 00| 1] 100
rgebnis 1 10] 71, 7 63,6 % 00| 3] 1000%|
V3 (Ausb)
rgebnis |
v4 2| 66, 2| 66, |
1 14] 93, 11 o1, 3@' 3| 1000%
4] 100, 4] 100,
rgebnis 2: 91% 20| 90, 17 89 3,00] 3] 1000%
4 (Ausb) 1[ 100, 1] 100
rgebnis 1] 100, 1] 100
V5
rgebnis
Ergebnis 3.434 489 142% 322 100% 207,00 40 193 %) 167 80,7 %)
BPD GRAZ A Vil
I
rgebnis
AL
1] 333% 1 333%
L 100, 100, 1 100.0%
rgebnis 1 27, 20, 1 100.0%)
A2 50, 50,
50, 50,
75, 75,
33, 33,
100, 100,
rgebnis 1 57, 57,
A3 75, 3,00 3] 1000%
66, 60, 1@' 1 100.0%)
1 1] 77, 1 77,
1 13] 02, EE 92,
100, 100,
100,0 %,
100,0 %!
rgebnis a 21,7 % 36 78, 32| 76, 4,00] 4 100,0 %
AL 1] 100, 100,
L 3100, 100,
rgebnis 4] 100, 100,
€ 1] 100, 100,
rgebnis 1] 100, 100,
E 100,0 %
rgebnis 100,0 %!
D cht 1,00 1| 1000% 1| 1000%
ugeordnet
rgebnis 100, 100,
v2 100, 100,
rgebnis 100, 100,
V3 100, 100,
75, 66, 1,00 1 100.0%)
50, 25, 2,00 2] 100.0%)
rgebnis EE 69, 60, 3,00 3| 1000%
va
100, 100, 2,00 2] 1000%
100, 100,
rgebnis 1 83% 1] o1, 90, 2,00 2] 1000%
va (Ausb) 100, 100,
rgebnis 100, 100, |
Ergebnis 11 75| 68, 65 65, 10,00 10| 100,0%|
BPD LEOBEN A i
rgebnis
AL
rgebnis
A2
100, 100,
rgebnis 750% 25 25
A3 100, 100,
333% 66, 50, 1,00 1 100.0%)
100, 100,
rgebnis 85, 83, 1,00, 1 1000%)
AL
L
rgebnis
h2
rgebnis
ha
rgebnis
h5 5[ 1000% 2 1000% 3,00 3| 1000%
rgebnis 5[ 1000% 2 1000% 3,00 3] 1000%
Vi 100,0 %,
rgebnis 100,0 %!
v2 100, 1,00 1 100.0%)
100, 100,
rgebnis 100, 100, 1,00 1 1000%
V3 100, 100,
100, 100,
100, 100,
rgebnis 100, 100,
va
1] 500% 1,00 1 100.0%)
rgebnis 1] 333% 1,00 1 100.0%)
Ergebnis 3 22| 595% 16 516 % 6,00 6 1000%
BZS STMK I
rgebnis
E2a 2[ 1000% 2,00 2] 1000%
1
rgebnis 1 2| 118% 2@' 2] 1000%
E2b GL
rgebnis. |
Ergebnis 2 2[ 95% 2,00] 2] 1000%
BAA STMK AL
rgebnis
A2 1 200%
rgebnis 16,
A3 100,
rgebnis 100,
v2 50,0% 50,
rgebnis 50,0 % 50,
v3 100,
rgebnis 100,
va 1 100, 2] 1000%
rgebnis 1 100, 2] 1000%)
v4 (Ausb.) 100,
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Ergebnis 1| 100,0%
Ergebnis 13 565 % 2,00 2] 1000%
FEST STMK E2a 4
rgebnis
E2b L
rgebnis
Ergebnis
SID Steiermark A it
rgebnis
AL
rgebnis
A2 1 1000%
1 333%
100,
rgebnis 50,
A3 80, 2] 100.0%
rgebnis 80, 2] 1000%
AL 100,
rgebnis 100,
E1
rgebnis
E2a 1 83%
L
rgebnis 3
E2b L 100,
rgebnis 100,
V3 100,
100,
rgebnis 100,
va 66, 1 100.0%
rgebnis 66, 1 100.0%)
Ergebnis 1 28, 3| 1000%
EKO CobraSid | E1L
rgebnis
E2a
rgebnis
E2b L
rgebnis
Ergebnis
SID KARNTEN AL 1 333%
rgebnis 20,
A2 100,
100,
rgebnis 100,
A3 100,
80,
rgebnis 6 75.0%
E1
rgebnis
E2a
rgebnis
E2b L
rgebnis
v2 1 1000%
rgebnis 50,
V3 100,
rgebnis 100,
va 100, 1.00] 1 100.0%
100, _|
rgebnis 100, 1,00 1 100.0%
Ergebnis 1 35, 1,00/ 1 100.0%)
LPKKARNTEN | A3 100,
1,00 1 1000%)
100,
L 100, |
rgebnis 75, 1,00 1] 100,0 %
AL X
L X
rgebnis X
AS L 100,
rgebnis 100,
E1
1 1000%
)
rgebnis 4
E2a 3 3,00 2| 66.7 %! 1 333 %)
.9 3,00 3| 1000%
.7 5,00 ] 80,0 %! 1 20,0 %!
.9
3 1@' 1 1000 %
L K ,00[ 100,0 %)
rgebnis 1 K 13,00 7 538% 46,
E2b L 64 X 45,00 16] 356 %) 2 64,
rgebnis 64 X 45,00 16 356% 2 64,
E2c L 100,
rgebnis 100,
. icht
e o] ugeordnet.
rgebnis
w2 -G
G
2
rgebnis
jicht
@ ugeordnet 2 100,0 %/
rgebnis 2 1000%
hi
rgebnis
h2 2 222%
1 333%
rgebnis 3 250%
h3
rgebnis
ha 4 50, 1 100.0%
rgebnis 4 50, 1] 100.0%)
hs 17] 100, 34| 1000%)
rgebnis 17 100 34| 1000%|
5 Nicht 20 1000%
rgebnis 20[ 1000 %
vi 1 100.0%
rgebnis 1 100.0%)
V3 100, 1000 %|
85, 100,
rgebnis 90, 1000 %|
va 1 84, 100,
100,
rgebnis 11 84,6% 100,
Ergebnis 132, 69% E‘ 198% 101 80.2%|
KLAGENFURT A v
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I 1|_100, 100,
rgebnis 4] 100, 100,
AL 100, 100,
100, 100,
100, 100,
L 50, 1] 500% 50, 1 500 %
rgebnis 4] 80y 1] 200% 80 1 200%
A2 1[_100, 100,
1[ 1000 % 1 100,0%
2[ 1000 % 2 1000%
2| 100,0% 2 1000%
rgebnis 3| 500% 3[_50, 3 500% 50,
A3 X 2[ 100, 100, 1,00 1 100.0%
1 4 _400% 660, 4 444% 56, 1,00/ 1 100.0%)
1 125% 7|87 1 143% 85, 1,00 1 100.0%
1] 333% 2] 66, 1 333% 66,
X 3100, 100,
rgebnis 2 6] 231% 20|76, 6 26.1% 1 73, 3,00 3| 1000%
AL 1] 100, 1,00 1 100.0%)
rgebnis 1] 100, 1,00 1 1000%)
AT L 1 100,0% 1 100,0%
rgebnis 1[100,0% 1 1000%
v2 100, 100,
1] 50.0% 50, 1 500% 50,
rgebnis 25.0% 75, 1 25.0% 75,
v3 100, 100, 1 1000%
rgebnis 100, 100, 1 100.0%)
V3 (Ausb.) 100, 100,
rgebnis 100, 100,
va 250% 75, 1 250% 75,
100, 100,
rgebnis 167% 83, 1 167% 83,
va (Ausb) 100, 100,
rgebnis 100, 100,
Ergebnis 345% 38| 65, 20] 37.7% 33 62, 5,00] 5| 1000%
DISZKOMMKTN | v3 2 1] 100, 1] 100
Ergebnis 1] 100, 1] 100,
Ergebnis 1[_ 100, 1] 100
BPD VILLACH A " 1000% 1 100,0%
rgebnis 1] 100,0% 1 1000%
AL 1 100,0%: 1 100,0%
1] 1000% 1 1000%
L 2| 100,0% 1 100,0% 1 100.0%
rgebnis 3 750% 1 250% 2 66,7 % 1 333% 1 100.0%)
A2 1] 1000 % 1 1000%
1 333% 2] 66,7% 1 333% 2 66.7 %
2[100,0% 2 1000%
1] 1000% 1 1000%
1 100,0% 1 100,0%
rgebnis 4] 500% 4|50, 4 571% 42, 1,00 1 1000%
A3 1] 100, 100,
2] 50,0% 250, 2 66.7 % 33, 1,00 1 1000%)
1 143% 6 85, 1 143% 85,
4 100, 100, 1,00 1 1000%)
X 1[0, 150, 50, 50,
rgebnis 1 4] 22, 14] 77, 25, 1 75, 2,00 2] 1000%
AL L 1[0, 50, 100, 1,00 1 100.0%)
rgebnis 1[50, 50, 100, 1,00 1 100.0%)
v3 100, 100,
2] 50.0% 50, 2 50,0 % 50,
100, 100,
rgebnis 2] 286% 71, 2 286 % 71,
va 100, 100,
100, 100, 3,00 3 1000%
rgebnis 5[ 100, 100, 3,00 3 100.0%)
Ergebnis 333% 30|66, 378% 23 62, 8,00 1 125 %) 7 875 %)
BZSKARNTEN | E1 1/ 100, 1100,
rgebnis. 1/ 100, 1] 100, |
E2a 100, 100, 1@' 1 1000%
100, 100,
rgebnis 100, 100, 1.00[ 1 1000%
E2b GL 100, 100,
rgebnis 100, 100,
ha 100, 100,
rgebnis 100, 100,
hs 100, 100,
rgebnis 100, 100,
|_Ergebnis 78, 21, 76, 23, 1,00] 1 1000%
FESTKARNTEN | E2a 1 100, 100,
5 100, 100,
7 100, 100,
Ergebnis 100, 100,
Ergebnis 100, 100,
LPK SALZBURG | AL 3[ 1000% 1 1000% 2[ 1000%)
rgebnis 3[ 1000 % 1 100,0% 2] 100.0%)
A2 100,0 %, 100,0 %,
100, 1 100,0%
rgebnis 50,0% 50, 50,0% 1 50,0%
A3 100, 1 1000%
100, 2 1000%
rgebnis 100, 2 1000% 1 1000%
AL 100,0 100,0
rgebnis 1000 1000
EL 100,0 100,0
85.7 1 143% 85.7 1 143%
100, 100, 1,00] 1 1000%)
100, 100,
100, 100,
100, 100,
100, 100,
0 100, 100,
L 100, 100,
rgebnis 97, . 96, 1 31% 1,00 100,
E2a 9. . 100, 4,00 25, 3 75.0%!
95, 96, 5 37% 3,00 66, 1 333 %)
9, X 9, 1 09% 1,00 100,
98, 98, 1 1.4%)
98, Ry 100, 1,00 1 1000%
100, 100,
L 100, 100, |
rgebnis 97, 12[ 2 98 7 ) 9,00 ] 44.4%)
E2b L 86, 107] 13, 88, 84 K 38,00 15 395 %)
rgebnis 86, 107] 13, 88, 84 £ 38,00 15| 395 %)
E2c L 68, 32| 31, 68, 32 K
rgebnis 68, 32| 31, 68, 32 K
WD cht 1| 1000% 1| 1000%
Ergebnis 1] 1000% 1 1000%
a icht 100,0 %, 1,00 1| 1000%
zugeordnet " ! N
rgebnis 100, 1.00] 1 1000%
hi 100, 100,
100, 100,
rgebnis 100, 100,
h2 100, 100,
100, 100,
rgebnis 100, 100,
h3 100, 100,
rgebnis 100, 100,
ha 100, 100,
rgebnis 100, 100,
hs 5[ 1000% 30,00 30
rgebnis 5[ 1000% 30,00 30
p5 icht 9,00 9 1000 %
rgebnis 9,00 o 1000%
v2 1,00 1 100.0%)
rgebnis 1,00 1 1000%)
v3 50, 50, 1 50,0 %
37, 37, 5 625%
100, 100,
rgebnis X 50, X
va X 60, X 00| 2] 1000 %]
X 60, X 00 2[__ 100,
rgebnis X 60, X 00| 4] 1000%|
Ergebnis 1 85, 89, 144 10, 96,00 21] 219%) 75 78,
BPD SALZBURG | A Vil 100,
Ergebnis 100, | |
AL 1 1| 100,0 % 100,0 % | |
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100, 100,
100, 100,
100, 100,
L 50, 1] 500% 100, 1 1000%)
rgebnis 88, 1 111% 100, 1 100.0%)
A2 100, 100,
100, 100,
3[ 100, 3 1000%
66.7% 1 a3, 2 66.7% 1 333%
rgebnis 63.6% 4|36, 7 63,6 % 4 364%
A3 50.0 % 1[50, 1 1000% 1,00 1 1000%)
7| 100, 100, 1,00 1 1000%)
125% 7|81, 1 16.7% 83, 2,00 2] 100.0%)
3[ 100, 100,
rgebnis 100% 18[00, 2 125% 1 87, 4.00| 4 1000%
5 1] 100, 100,
rgebnis 1[ 100, 100,
vi 1000% 1 1000%
rgebnis 100.0 % 1 1000%
V2 100, 1100, 00, 100,
rgebnis 100, 100, 00) 1000 %)|
v 100, 100, 00, 00,
100, 100, 00, 00,
100, 100, 00 00,
rgebnis 21[ 100, 100, 13,00 T 00,
va 1L1% 88, 83, 00, 00,
100, 100, 00, 00,
rgebnis 71% 13 o2 88, 00 00,
Ergebnis 23.8%) 61| 76, 3 66. 24,00 2 00,
BZS SALZBURG | Allgemein VIR 100,0 %
rgebnis 100,
EL 100,
rgebnis 100,
E2a 100,
85, 1 143% 1 143%
100,
rgebnis 88, 1 111% 1 1L1%
E2b L 100,
rgebnis 100,
h5 3[ 1000% 2] 1000% 1,00 1 1000%)
rgebnis 3[ 1000% 2] 1000% 1,00 1] 1000%)
Ergebnis 733%) 4] 26.7%, 3 214% 1,00 1 1000%)
BAASALZBURG | AL 100,0 %
1 1000% 1 1000%
rgebnis 50, 1] 500% 1 50,0 %
A2 50, 1] 500% 1 50,0 %
100,
rgebnis 66. 1 333% 1 333%
A3 1 1000% 1 1000%
rgebnis 1 1000% 1 1000%
vi 1000 %
rgebnis 1000 %
v2 2[ 1000% 1 1000% 1 1000%)
rgebnis 2[ 1000% 1 1000% 1 1000%)
v 100,
rgebnis 100,
va 25, 3 750% 3 75.0%
rgebnis 25, 3 750% 3 75.0 %
Ergebnis 42, 8] 571% 7 53.8% 1.00] 1 1000%)
FEST SALZBURG | E2a 4 100,0 %
100,
100,
rgebnis 100,
E2b GL 75, 1 250% 1 250%
rgebnis 75, 1] 250% 1 250 %
Ergebnis 85, 1 143% 1 143%
SID Salzburg AL 100,
100,
rgebnis 100,
A2 100,
33, 66.7 66.7
rgebnis 50, 50,0 50,0
A3 1000 1000
rgebnis 1000 1000
E1 100,
rgebnis 100,
E2a 100,
100,
100,
100,
100,
rgebnis 100,
V3 100, 4100 00, 00,
rgebnis 100, a|_100, 00) 00,
v4 100, 1 100, 00, 00,
rgebnis 100, 1] 100, ,00) 00,
Ergebnis 66. 13 33, 9 25, 4.00) 4| 00,
SID TIROL AL 100,
100,
100,
rgebnis 100,
A2 1] 1000% 1 1000%
1 1000% 1 1000%
1000 %
rgebnis 50,0 % 2[ 500% 2 500 %
A3 2[ 1000% 2] 1000%
rgebnis 2[ 1000% 2] 1000%
E2a 100, 1,00( 1] 100,0 %
100,
100,
100,
100,
rgebnis 100, 1,00 1 1000%)
v 3[ 100, 100, 1,00 1 1000%)
1[ 100, 100,
rgebnis 4| 100, 100, 1,00 100,
v4 100, 100, 2,00 100,
rgebnis 100, 100, 2,00 100,0 %|
Ergebnis 65, 11[ 2, 28, 4,00) 1 250% 75,
LPK TIROL A3 66, 3, 33,
33, 66. 66.
GL 100,
rgebnis 57, 3[ 429% 3 429%
A4 25, 3 750% 3 75.0 %
GL 100,
rgebnis 50, 3] 500% 500 %
Aspirant Aspirant 62, 22| 37.3% 22 373%
rgebnis 62, zzl 37.3%) 2 373%
E1 100,
100,
100,
100,
100,
100,
100,
100,
0 100,
rgebnis 100,
E2a 100,
9, 2 19% 2 20% 4,00 4] 1000%
93, 9 63% 5 3.7%) 6,00 2 333% 4 66.7%
100,
98, 1 12% 1 1.2%)
9, 1 13% 1,00 1 1000%)
100,
L 9. i s 1 4 00 1] 1004
rgebnis 97, 142 9 . 12,00 7 5 41.7%
E2b L 87, 135] 12 119 11 33,00/ 17] . 16| 485 %
rgebnis 87, 135] 12, 119 11, 33,00/ 17 6] 485%
E2c L 58, 26|41 2 a1,
rgebnis 58, 26| 41 23 1,
W2 -G 100,
2 100,
rgebnis 100,
WD £ 75,0 % 6| 250% 6 250 %
ugeordnet " " "
Ergebnis 750 % 6] 250% 6 250%
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hi 100, 100,
100, 100,
rgebnis 100, 100,
h2 83, 1 83, 2 167%
100, 100,
rgebnis 84, 1 84, 15,
ha 37, 50, 50, .00/
rgebnis 37, 50, 50, 00|
hs 100, 26,00
rgebnis 100, 26,00
ch
PS5 zugeordnet 14,00
rgebnis 14,00/ 14] 1000 %|
Vi 00 100,
rgebnis 00| 1000 %|
v3 20,0% 1 250% 3 75, 00| 100,
16.7% 1 200% 4| 80 00| 1000 %|
rgebnis 182% 2 222% 77, 00| 100,
V3 (Ausb)) 100,
rgebnis. 100, |
va 77 14, 85, 6.00] 6] 1000%
50, 50, 50,
rgebnis 13, 22, 77, 6.00] 6 1000%
va (Ausb.) 100, 100,
100, 100,
1] 1000% 1 1000%
rgebnis 66, 1] 333% 66, 1 333%
Ergebnis 1. 85, 290] 149% 1634 88, 218] 11.8% 96,00] 24, 250%) 72[ 75.0 %)
BPD Innsbruck A Vil 100, 100,
I} 100, 100,
rgebnis 100, 100,
AL 100, 100,
100, 100,
L 100, 100,
rgebnis 100, 100,
A2 X X . X
rgebnis X X M X
A3 100, 100,
444% EX 4 500 % 50, 1,00 1 1000%)
100, 100, 1,00 1 100.0%
100, 100, 1,00 1 1000%)
50,0% 50, 1 50,0% 50,
L 100, 100, |
rgebnis 23, 16|76, 27, 1 72, 3,00] 3] 1000%
AL 100, 100,
rgebnis 100, 100,
E2b L 100, 100,
rgebnis 100, 100,
hs 100, 100,
rgebnis 100, 100,
vi 50, 50, 50, 50,
rgebnis 50, 50, 50, 50,
vz 100, 100,
rgebnis 100, 100,
v3 100, 100,
100, 100,
100, 100, 00 100,
rgebnis 12| 100, 1 100, 00 1000 %|
va 333% 66, 1 50,0% 1 50, 00 100,
286% 714 1 200% 4| 80, 00 1 50,0 %! 50,
100,0 00 100,0%|
rgebnis 273% 727 2 286% 5 714% 4,00 1 250 %) 75,
Ergebnis 394% 43606 27 435% 35] 565 % 9,00 1 111% 88,
EKO COBRA West| E1 4 1000 % 1| 1000%
100, 100,
rgebnis 100, 100,
E2a 100, 100,
100, 100,
100, 100,
100, 100,
100, 100,
rgebnis 100, 16 100
E2b L 100, 100,
rgebnis 100, 100,
Ergebnis 100, 100,
BZS TIROL A3 100, 100,
rgebnis 100, 100,
EL 100, 100,
rgebnis 100, 100,
E2a 88, 1 111% 88, 1 111%
100, 100,
rgebnis 90, 1 100% 90, 1 100%
w2 12 100, 100,
rgebnis 100, 100,
hs 4] 1000% 4,00 4l 1000%
rgebnis 4] 1000% 4,00 4] 1000%
5 "‘I"f,:tn et 1| 1000% 1,00 1| 1000%)
Ergebnis 1[ 1000 % 1,00 1 1000%
Ergebnis 66, 6] 333% 1 92, 1 7% 5,00 5[ 100.0%)
BAA TIROL AL 100, 100,
100, 100,
rgebnis 100, 100,
A2 50, 2] 500% 50, 2 500 %
100, 100,
rgebnis 60, 40, 60, 0,
v2 (Ausb) 100, 100,
rgebnis 100, 100,
v3 100, 100,
rgebnis 100, 100,
va 100, 100, 1,00 1 1000%
rgebnis 100, 4] 100 1@1 1 1000%)
v4 (Ausb) 100, 1] 100
rgebnis. 100, 1] 100, |
Ergebnis 31, 11[ 68, 33, 10 66, 1.00] 1 1000%
FEST IBK E2a 100, 100,
100, 100,
rgebnis 100, 100,
E2b L 100, 100,
rgebnis 100, 100,
Ergebnis 100, 100,
SID A il 1000 % 1| 100,0%
VORARLBERG ! i
rgebnis 100,0 %, 1 1000%
AL 1000% 1] 100,0%
100,0 %, 1 1000%
L 100, 100,
rgebnis 66.7 % 33, 2 66.7 % 33,
A3 100, 100,
rgebnis 100, 100,
E2a 100, 100,
66, 1 333% 100, 1 1000%
100, 100,
100, 100,
100, 100,
rgebnis 90, 1 100% 100, 00| 1 1000%
vi 100, 00 1 1000%
rgebnis 100, 00| 1 100.0%)
v2 50, 1] 500% 1 1000% 00| 1 100.0%
1[ 1000 % 1 1000%
rgebnis 333% 2] 667% 1 50,0 % 1 50,0 % 1.00] 1 100.0%
v3 1000 % 1 1000%
100, 100,
100, 100,
rgebnis 250% 75, 1 250% 75,
va 100, 100,
100, 1,00 1 1000%
rgebnis 100, 100, 1@1 1 100.0%)
va (Ausb)) 100, 100,
rgebnis. 100, 100, |
Ergebnis 55,6 % 12|44, 14 60,9 % 39, 2,00] 1 25.0%) 3 75.0%)
Nicht
VORARLBERG | AOVIT 1000 % 1| 100,0%
Ergebnis 100,0 %, 1 1000%
Aspirant Aspirant 57.7% 11 423% 15 57.7% 11 223%
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rgebnis 1] 423% ul  423%
EL
0
rgebnis
E2a
3 6a% 1 23% 3.00) i s3% 2 667%
3 a1% 2 28% 2,00 i s00% i s00%
2| 25% 2 25%
2,00 2] 1000%)
i 20% 1 20%
I
L
rgebnis s 2 6 1 mjl 4 sra% 3 a2e%
E2b L 107] 22, 52| 20, 24,00 o ar5% 5 625%
rgebnis 107] 22, s2[ 20, 24,00/ o ars%) 5 e25%
E2c L 12|50, 12[ 50,
rgebnis 15[ 50 12 50,
e
rgebnis
w2 2
rgebnis
jcht
e ugeordnet
rgebnis
ht
rgebnis
h2
rgebnis
ha
rgebnis
n5 11] 1000% i 1000% 10,00 10| 1000%
rgebnis 11] 1000% 1 1000% 10,00/ 10| 1000%
ps e 6| 1000% 6,00 6 1000%)
rgebnis 6 1000% 6,00 6 1000%)
v 1,00 i 1000%
rgebnis .00 i 1000%
[ 2] 66.7% Ba% 2 e67%
6 1000% 6| 1000%
rgebnis 8] 889% 1% 8 889%
v 00,0 %
3] 100, 3 1000%
F 100,0% 2,00 i s00% 1
rgebnis 4 s, 40,0% 3 600% 2,00] 1 50,0 % 1
Ergebnis 168] 18, 84,7 % 13 153% 50,00 15| 300% 35
) Nicht
VORARLBERG | Allgemein ugeordnet 1| 100,0% 1| 1000%
rgebnis 1] 1000% i 1000%
£l 100,
rgebnis 100,
E2a 100,
100,
rgebnis 100,
jcht
o 1| 1000% 1| 1000%
ugeordnet
rgebnis 1] 1000% i 1000%
h2 100,0%
rgebnis 100,0 %
ns 100, i 1000% 100
rgebnis 100, 1 1000% 1000 %)
Vi 100, 100,
rgebnis 100, 1000 %)
V3 (Ausb.) 100, 100,
rgebnis 100, 100.0 %)
Ergebnis 40, 751 3 0% 100,
FESTVBG E2a 100,
rgebnis 100,
E2b L 100,
rgebnis 100,
Ergebnis 100,
Ergebnis 6544 202% 2557 83, 5,101, 166% 1781.00 E 19,0%) 1443 8L0%)
G.Ergebnis 6.544] 20.2% 2557 83, 5,101 166% 1.781,00 338 19.0%) 1443 810%)
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